Problem 2.42
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 in the circuit shown.
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Suggested Solution

The circuit maybe redrawn as follows:
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At A:
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At B:
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Then,


[image: image4.wmf]40006000120002 k

AB

R

==W


� EMBED SmartDraw.2  ���





� EMBED SmartDraw.2  ���








[image: image6.wmf]R

AB

A

B

4

k

W

2

k

W

12

k

W

12

k

W

6

k

W

A

B

[image: image7.wmf]A

B

R

AB

12

k

W

6

k

W

2

k

W

4

k

W

12

k

W

_1057482309.unknown

_1057482509.unknown

_1057482665.bin

_1057482366.unknown

_1057180935.unknown

_1057320178.bin

